SLIDE 800A

Explosionszeichnung [

%
= . MsLsos
MSL801 = &
@ 630R0L
MSL802
. MsL826
(i —
2xDIN965 M8x12 =) 6204ROL
-
MSL803 L]
e
% . MSL825
4xDIN912 M6x20

MSL805_ |
MSL824

MSL823
MSL822

DIN965 M4x12
DIN7504N ST3.5x13

2xMSL808 MSL821
DIN934 M8
4xDIN912 M8x12
4xANILHA 3xDIN
2xMSL809
MSL820
MSL819

@TFMSLMS

MSL813
6205R0L
6205R0OL 4xDIN912 M6X12
MSL814 MSL817
MSL815
6205R0OL
MSL816

Version 0.1


Chef02
Version 0.1

Chef02

Chef02
Explosionszeichnung für Ersatzteile




